00021765643287999

0O BEREEDBAY 06—

2016 4F HLT 22 5 1 [#2B / 2 4%

1| %o [ 2t £
36 182

(1) 2016 D EDFFIF &I T EHY, ThdoTFEE TH5.

(2) 0<0 <G ¥ 3. BEFE 2 35 Po(l, 0), Pi(cosd, sind), Pa(cos20, sin20) nidb 3. ziic
LT, Py, P ERBLMETNTNPs, Py2l, X512, MAKPIPPP, Ofifi% S1(0), =
J& PyP Py DR % Sg(@) X943,

(i) s (&)= 5] ews.

9
E i) hm S10) _ [ | THh3. -1 +{7 [o+TT
82(8) 4 T
(iii) S1(0) % cosd = DY X FAME 2EB,
(1) 2016 = 27-3* 7 . EnfIfRaiB21x. 6x3x2 = 3646

.__.._.__

Ao REED R (1+2+2%+- +29)(143+32)(1+7) = 63-)3-F

SO o Frf &, %%’3 = 182

—

@ W)Es oL,

51("3*) = APjOP4 +2AP0P; +AP,0P;

= £11-5in 2k 4. s1tsinE+ Lo sin (21T - £7)

=0,

(i) (1) e RIFE LT,

S1(0)= £:1-1-5in26 + 2-5-1-1-5in@ + L (-1 5in (270~ 46)

n

Sin26 +sin@ — -21-5;,149 s (0

I
2
':i:' “25in@cos@ + Sinf - -é- *2°25in0cos0 (1=2cos26)

sin@ (~cosO+1 +45in*0cosB) -+ (%%)

52(9)- -25in@ (1~ cosg) = 5in6(1=cos6)
lim S8 _ [im sin®( 1=cos@ +4sin*Gcos6) = lim ...M) = lim (1+4(1+c059)co59 =9
e-lb-ro S2(8)  g++0 SinB(1=cosB) 82 +0 (1 {=cos6 010 1
(i) () Y,
57(8) = cos28 +cos8 ~2co540
= —(bcos*B +{Bcos?@ + cos® -3
= —(COSB—1)(2C059+1)(3c0520+4-cos9"3) =
, ~1+{T o T
0<9<%;:), 0<cos@<1 - §;(0)=0¢tF3aid.cos6= S “nrE. §inb= =




0002176543287999

‘e O EREERAY 00—

2016 4F FE T34 45 1 1 2%%H/ 271
1] %o [ atum k.

(1) 2016 DEDKBIL LT lHY, ThbOTHEE Thb

(2) 0<o< %“ 9B, YR EIZ 3 A Po(l, 0), Pi(cosd, sin@), Py(cos20, sin20) »éd. il
BIL T, miPy, Py ERFRAEEETNTNPy, Py U, I6IZ, MMAE PPPP, OmfE% S(0), =f
JE PoP1Py DI E S2(0) &4 5.

(i) 81 (&) =[] cas.
(ii) Jim glggg [T cha.
(i) $1(0) i cosd = D ¥ & B L3

(2) (i) @I ME

=1 +47 . ,
0<a<Z, cosd=—7— 1T, tEIEE s < L Rad)ITnd

o | [a||3)

5\ +]0]~
S1(0) 7 v
L ocosf= -I:ﬁ OLE fp A ewd (¥H) &Y,
Sy = AL g 82T 2T )
- 1T 13447
= A Eo=
10+747

T

"




